—Appendix B
THE TEST-CURRICULUM MATCHING ANALYSIS

When comparing student achievement across countries, it is important that the
comparisons be as “fair” as possible. TIMSS has worked towards this goal in ja
d

number of ways, including providing detailed procedures for standardizing the
population definitions, sampling, test translations, test administration, scoring, an
database formation. Developing the TIMSS tests involved the interaction of expertg in
the sciences with representatives of the participating countries and testing spécialists.
The National Research Coordinators (NRCs) from each country formally approved
the TIMSS test, thus accepting it as being sufficiently faiotapare their students’
science achievement with that of students from other countries.

Although the TIMSS test was developed to represent a set of agreed-upon scignce
content areas, there are differences among the curricula of participating countries

that result in various science topics being taught at different grades. To restrict test
items not only to those topics in the curricula of all countries but also to those
covered in the same sequence in all participating countries would severely limit test
coverage and restrict the research questions about international differences that
TIMSS is designed to address. The TIMSS tests, therefore, inevitably contain some
items measuring topics unfamiliar to some students in some countries.

The Test-Curriculum Matching Analysis (TCMA) was developed and conducted to
investigate the appropriateness of the TIMSS science test for seventh- and eighth-
grade students in the participating countries, and to show how student performarce
for individual countries varied when based only on the test questions that were
judged to be relevant to their own curriculém.

To gather data about the extent to which the TIMSS tests were relevant to the
curriculum of the participating countries, TIMSS asked the NRC of each country
to report whether or not each item was in their country’s intended curriculum at
each of the two grades being tested. The NRC was asked to choose a person or
persons who were very familiar with the curricula at the grades being tested to make
the determination. Since an item might be in the curriculum for some but not a
students in a country, an item was determined appropriate if it was in the intended
curriculum for more than 50% of the students. The NRCs had considerable flexibility
in selecting items and may have considered items inappropriate for other reasons.
All participating countries except Thailand returned the information for analysis

Tables B.1 and B.2 present the TCMA results for the eighth and seventh grade
respectively. The first row of each table indicates that at both grades the countrjes
varied substantially in the number of items considered appropriate. At the eight
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' See Appendix A for more information on the test development.

2 Because there also may be curriculum areas covered in some countries that are not covered by the TIMSS
fests, the TCMA does not provide complefe information about how well the TIMSS tests cover the curricula
of the countries.
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grade, more than half of the countries indicated that items representing three-quarters
or more of the score points (110 out of a possible 146) were apprépittethe

percent ranging from 100% in Spain, Iceland, and the United States to approximately
40% in Korea (59 score points) and French-speaking Belgium (58 score points).
Fewer items were selected at the seventh grade, but nearly half of the countries
selected at least 60%, with several selecting at least three-quarters of the score points.
All items were selected at the seventh grade as well as the eighth grade in both the
United States and Iceland. At the seventh grade there were also several countries,
including Korea and Japan, which retained about 30% or less. That lower percent-
ages of items were selected for the TCMA at the seventh grade is consistent with
the instrument-development process, which put more emphasis on the upper-grade
curriculum.

Since most countries indicated that some items were not included in their intended
curricula at the two grades tested, the question becomes whether the inclusion of
these items had any effect on the international performance compafnsen$CMA
results provide a method for answering this question, providing evidence that it is
reasonable to make cross-national comparisons on the basis of the TIMSS science
test.

Each of the first columns in Tables B.1 and B.2 shows the overall average percent
correct for each country (as discussed in Chapter 2 and reproduced here for conve-
nience in making comparisons). The countries are presented in the order of their
overall performance, from highest to lowest. To interpret these tables, reading across a
row provides the average percent correct for the students in the country identified by
that row on the items selected by each of the countries named across the top of the
table. For example, at the eighth grade, Singapore, where the average percent correct
was 72% on its own set of items, also had 72% for the items selected by Korea, 73%
for those selected by Japan, 69% for those selected by the Czech Republic, and so
forth. The column for a country shows how each of the other countries performed

on the subset of items selected for its own students. Using the set of items selected
by Hong Kong as an example, on average, 71% of these items were answered correctly
by the Singaporean students, 65% by the Korean students, 66% by the Japanese, and
so forth. The shaded diagonal elements in each table show how each country performed
on the subset of items that it selected based on its own curriculum. Thus, the Hong
Kong students themselves averaged 59% correct responses on the items identified
by Hong Kong for the analysis.

® Ofthe 135 items in the fest, some items were assigned more score poins than others. In particular, some items
had two parts, and some extended-esponse items were scored on a two-point scale and others on a threepoint
scale. The total number of score points available for analysis was 146. The TCMA uses the score points in order
fo give the same weight fo items that they received in the test scoring.

“ It should be noted that the performance levels presented in Tables B.1 and B.2 are based on average percents
correct as was done in Chapter 2, which is different from the average scale scores that were presented in
Chapter 1. The cost and delay of scaling would have been prohibitive for the TCMA analyses.
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The international averages of each country’s selected items presented across the last
row of the tables show that the selection of items for the participating countries varied
somewhat in average difficulty, ranging from 55% to 59% at the eighth grade and fram
49% to 56% at seventh grade. Despite these differences, the overall picture prov|ded
by both Tables B.1 and B.2 reveals that different item selections do not make a major
difference in how well countries perform relative to each other. The items selected
by some countries were more difficult than those selected by others. The relative
performance of countries on the various item selections did vary somewhat, bu
generally not in a statistically significant manher.

Comparing the diagonal element for a country with the overall average percentage
correct shows the difference between performance on this subset of items and perfor-
mance on the test as a whole. In general, there were only small increases in each
country’s performance on its own subset of items. To illustrate, the average percent
correct for eighth-grade students in Singapore was 70%. The diagonal element shows
that Singaporean students had about the same average percent correct (72%) based
on the smaller set of items selected as relevant to the curriculum in Singapore as they
did overall. In the eighth grade, most countries had a difference of less than 5 percentage
points between the two performance measures, with the largest difference of 7%!|for
the Russian Federation (65% compared to 58%). Performance differences between the
entire TIMSS test and the subset of items selected for the TCMA were, in general,
somewhat larger for seventh-grade students, including a few countries with an average
performance that was about 10 percentage points higher on the subsetsseléetas
for the TCMA for their own students — Switzerland, France, and the Russian Federatjon.
Even these increases are not particularly large, however, considering that France and
Switzerland both selected less than one-quarter of the items at the seventh grade.

It is clear that the selection of items does not have a major effect on the general
relationship among countries. Countries that had substantially higher or lower perfor-
mance on the overall test in comparison to each other also had higher or lower relative
performance on the different sets of items selected for the TCMA. For example, at
the eighth grade, Singapore had the highest average percent correct on the test as a
whole and on all of the different item selections, with Japan, Korea, and the Czegh
Republic among the four highest-performing countries in all cases. Although ther

are some changes in the ordering of countries based on the items selected for the
TCMA, most of these differences are within the boundaries of sampling error. As

the most extreme example, consider the 49 score points selected by the Russian
Federation for the seventh grade. The Russian students did substantially better gn
these items than on the test as a whole, with 61% correct responses to these items,
on average, compared to 50% average correct on the items on the test as a whole.

> Small differences in performance in these tables are not statistically significant. The standard errors for the
estimated average percent correct sfatistics can found in Tables B.3 and B.4. We can say with 95%
confidence that the value for the entire population will fall between the sample estimate plus or minus two
standard errors.
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However, all other countries also did better on these particular items, with an interna-
tional average of 54% for the items selected by the Russian Federation compared with
50% on the test as a whole. Only 8 of the 22 countries that performed better than the
Russian students on the overall test also did so on the items selected by the Russian
Federation. However, 10 countries with the same or higher overall performance were
within 5 percentage points of the Russian students on these items.

The TCMA results provide evidence that the TIMSS science test provides a reasonable
basis for comparing achievement for the participating countries. This result is not
unexpected, since making the test as fair as possible was a major consideration in test
development. The fact that the majority of countries indicated that most items were
appropriate for their students means that the different average percent correct estimates
were based substantially on the same items. Insofar as countries rejected items that
would be difficult for their own students, these items tended to be difficult for students
in other countries as well. The analysis shows that omitting such items tends to improve
the results for that country, but also tends to improve the results for all other coun-
tries, so that the overall pattern of results is largely unaffected.



'S6-766T ‘(SSIWIL) ApniS 80UBI0S pue soneWayre|N [euoleuIRiu| PIYL VI ‘304N0S

"Ajuo sjooyds Bunjeads uelAreT 1o} SST parelouue S| BIATeT 94G9 Mojaq S|ie} abeianod uoneindod asnesag

‘(s|reyap 1oy €'y aInbi4 9as) sainpasoid Bujdwes wooisse|o 1o ‘suoneayioads apeib/abe ‘sajes uonedonred ajdwes Joj Saulidpinb aiow 10 BUO AJSIIES J0U PIP SIIfe} Ul UMOYS S31UN0D

‘Jualsisuodul Jeadde Aew S[ej0] SWOS “JBCLUNU S|OYM ISIeaU 3Y) 0} PBPUNOI dle S)NSal asnedaq "T'g d|qeL ul pake|dsip se

‘SWaYl JO S19SNS YD L U0 paseq sasuodsal 1031109 Jo Juadiad abelane ay) 0} Bulpuodsaliod Siolia prepuels sureluod Xurew ayl "sasayjuased ui readde swal |je uo sasuodsal 1081109 Jo Juadiad abelane ay) 1o} siolid prepuels ()
'syuiod 2109s [€10} 9pT Ul Bunnsal ‘afeas juiod-9a1y} 10 -OM) € UO PaI0IS 91aM SWa)l 9sU0dsal-papualxa awos pue sped om) pey SWa)l SWOos 1S3} 82UdI0S dY) Ul SWal GET dY} JOxx

/

E N D

P

*A1)UN02 Yoea Ul palsal sepelb auy) Jnoge UoNeWIojUI 910W Joj Z 9|geL 89S ‘SaLuN0d Jsow ul apeld yiybi3,
80 L0 L0 L0 L0 L0 20 L0 L0 L0 L0 L0 L0 80 L0 L0 L0 80 20 L0 L0 L0 L0 20 L0 L0 L0 L0 L0 L0 20 L0 L0 L0 L0 20 L0 80 80 L@ (L0) G5 | oBeisny [euopeussiul
€T €T €T ¥vT €T|€T €T €T CT CT|€T ¥T €T ¢T €T|€T €T €T +vT €T |vT €T ¢T €T €T|€T €T €T €T €T|€T €T €T €T €T|€T ¢T +vT 2T €T[(eT) L2 BILYY 4inos
60,80 80 60 60|60 60 80 80 L0|60 60 80 80 80|80 80 60 60 80|80 80 80 80 80|80 80 80 80 80|80 80 80 80 80|80 80 60 80 80|(80) 6¢ Blquojo
0T 0T 60 0T 60(0T 60 60 OT 60|80 60 60 OT 60|60 60 60 80 O0T|60 60 60 60 60|60 60 60 60 80|60 0T 60 60 60|[0T 80 TT 0T O0T|(60) €¥ Hemny|
¥0 ¥0 ¥0, 80 vO0|v0 ¥0O ¥0O ¥O0 SO0|¥0 S0 ¥0 ¥0 SO|v0 ¥0O S0 ¥O0 ¥O0|¥0 ¥0 €0 ¥0 SO|¥0 ¥v0 ¥0 ¥O0 ¥O|¥0 ¥O0 ¥0 ¥0 ¥0|¥0 v0 v0 S0 vO|WFo0) Lv snudAo
90 90 90 90.90|/90 90 90 90 90|90 90 90 90 90,90 90 90 90 90|90 S0 90 90 90,90 90 90 90 90|90 90 90 90 90[90 90 20 90 90]|(90) ¥ ‘day oweys| ‘uel|
L0 L0 L0 L0 LO|LO L0 10 LO 0|80 L0 L0 80 20|20 L0 80 L0 80|20 L0 L0 L0 10|00 L0 L0 L0 L0|L0 L0 L0 L0 20|20 L0 L0 80 L0]|(20) 6¥ eluenyi
60 60 80 80 80|60,80 80 80 60|60 80 80 80 60|80 60 60 60 60|80 80 60 80 60|60 60 60 60 60|60 80 80 60 80|80 60 80 60 80|(80) 05 eluewioy
L0 90 90 90 90|90 90,90 90 S0|S0 90 90 90 90|90 90 90 90 G0|S0 S0 90 90 90|(S0 90 90 90 S0|90 G0 S0 S0 S0|90 SO 90 90 90[(90) 0S [ebnyod
90 90 90 90 90|90 90 90,90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90]|(90) 05 (sS7) eine
L0 .0 20 /L0 90|20 20 20 /L0[80|80 20 .0 /0 20|20 20 20 20 20|20 20 90 20 90|20 20 20 20 L0|20 20 20 20 20|20 20 20 20 90]|(0) 0S (14) wribjog
90 S0 90 90 90(90 S0 90 90 20|90 90 90 90 90|90 S0 90 90 S0|90 90 90 90 S0|90 90 S0 SO0 90|90 90 90 S0 90|S0 S0 90 90 90|(90) 15 Jewusqg
90 S0 S0 ¥0 ¥0|S0 S0 S0 S0 90|S0 S0 S0 S0 S0|S0 SO SO S0 G0|S0 S0 SO0 S0 SO0|[S0 SO0 SO SO S0|S0 G0 S0 SO0 S0|S0 SO0 S0 90 S0[(50) 25 829319
80 60 60 60 60|0T 80 60 OT 80|0T 60 60 TT 60|60 60 60 OT OT|0OT 60 60 60 60|0T 60 60 60 0T|60 60 60 60 60|0T 60 60 60 80|(60) 25 pued|
90 90 90 90 90(90 90 90 90 20|90 90 90 90 90|90 90 L0 90 90|90 90 90 90 20|90 90 90 90 90|90 90 90 90 90|90 90 20 L0 90]|(90) vS aouely
0T 0T 0T 0T OT|0T 0T 0T 0T OT|0T 0T 0T TT OF|0T 0T 0T 0T 0T|0T 0T 60 0T 0T|0T 0T 0T OT 60|0T 0T 0T 0T OT|[OT 0T 0T TT OT|(OT) &S pueposs
¥0 ¥0 ¥0 ¥0 ¥O0|¥0 ¥0O ¥0 ¥O0 ¥O0|¥0 ¥0 ¥0 ¥0 ¥O0|¥0 v0 ¥0 ¥O0 ¥O0|¥0 ¥0 ¥0 ¥0 ¥O0|¥0 ¥0O ¥0 ¥O0 ¥O|¥0 ¥O0 ¥0 ¥0 ¥O0|¥0 ¥0 ¥v0 S0 vO|(0) 95 ureds
G0 S0 S0 S0 S0|S0 S0 S0 S0 S§0|S0 S0 G0 S0 G0|S0/ S0 G0 90 S0|S0 S0 S0 SO0 G0|S0 S0 S0 S0 G0|SO0 G0 SO0 S0 GO0|SO0 G0 SO0 S0 S0|(50) 95 puepazims
TT TT TT TT TT|TT 2T TT OT OT|TT ¢T TT TT TT|TT TT TP 2T OT|TT OT OT TT TT|TT TT TT TT OT|TT TT OT TT TT|TT TT OT TT TT|(TT) £ 2els|
0T 0T 0T 60 60|0T OT OT 0T OT|OT OT OT OT OT|OT OT OT OT OT|O0OT OT 60 OT 60|0T OT OT OT OT|0OT OT 60 OT OT|OT OT OT OT OT|[(OT) 85 Buoy BuoH
¥0 ¥0 ¥0 ¥0 ¥0|¥0 ¥0 ¥0 ¥0 ¥0|¥0 ¥0 ¥0 ¥0 ¥0|¥0 ¥0 ¥0 ¥0 ¥0|¥0 ¥0 ¥0 ¥0 ¥0|¥0 ¥0 ¥0 ¥0 ¥O0|¥0 ¥0 ¥0 ¥0 ¥0|+¥0 ¥0 ¥0 G0 vO|(0) 85 KemioN
60 60 80 80 80|60 80 60 60 60|60 80 80 60 80|80 60 60 60 80|60 80 80 80 80|80 80 80 60 80|80 60 80 60 80|60 80 60 60 60]|(80) 85 puejeaz maN
0T 0T 0T 0T OT|0OT 0T 0T 0T OT|0T 0T 0T TT O0T|0T OT TT OT O0T|0T 0T 0T OT OT|O0T OT OT OT OT|O0T 0T OT OT OT|OT OT TT TT OT|(0T) 85 Avew 189
80 L0 80 80 80|.0 80 80 80 LO|.0 80 80 80 20|80 L0 80 L0 L0O|LO 80 L0 80 20|.0 L0 L0 80 90|80 L0 80 80 80|20 L0 80 60 80[(80) 85 uonelspag ueissny
0T 0T 0T 60 60|0T 60 60 0T 60|0T 60 0T 0T OT|O0T OT OT OT 60|0T OT 60/ 0T OT|0T OT OT OT 60|0T OT 60 OT OT|OT 60 OT OT 60[(0T) 8 Sajels payun
60 60 60 60 60|60 60 60 60 60|/0T 60 60 60 60|60 60 60 OT 60|60 60 60 60 0T|60 60 60 60 60|60 60 60 60 60|60 60 60 0T 60]|(60) 85 puejai|
G0 S0 S0 ¥0 S0|S0 S0 S0 S0 90|S0 S0 G0 SO0 S0|S0 S0 S0 SO0 G0|S0 S0 S0 SO0 G0|S0 S0 S0 SO0 G0|SO0 G0 S0 S0 S0|[S0 G0 SO0 90 S0|(50) 65 epeued
90 90 90 90 90(90 S0 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90/90 90 90 90|90 90 90 90 90|90 90 90 S0 90|(90) 65 uspams
90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90,90 90 90|90 90 90 90 90|90 90 90 90 90[(90) 65 algnday xenols
L0 80 L0 L0 L0|LO L0 L0 80 L0|LO L0 L0 80 L0|.0 80 80 20 L0|L0O L0 LO L0 L0|L0 80 L0/ L0 L0|20 L0 L0 L0 L0|80 L0 L0 80 L0]|(20) 09 gljesjsny
2T 2T 2T TT 2T|2T TT 0T TT Z2T|0T 2T TT TT ZT|TT 2T 2T TT 2T|2T 2T TT TT 2T|TT 2T 2T TT TT|TT 2T TT TT TT|TT 2T TT 2T TT|(TT) 09 (14) wnibjog
L0 90 90 90 90(90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 S0 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|(90) 19 Arebuny
L0 90 90 90 90|90 90 90 90 90|90 90 90 20 20|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 90 90 90|90 90 L0 20 90[(90) 19 puejbuz
L0 L0 L0 L0 L0|LO 20 L0 L0 90|20 L0 L0 L0 10|20 L0 L0 20 L0|L0 L0 L0 L0 L0|L0 L0 L0 L0 90|20 L0 20 20 L0|20 L0 L0 80 L0]|(20) 19 eljsny
90 90 90 90 S0[90 90 S0 90 90|S0 90 S0 SO0 S0|S0 90 90 SO 90|90 S0 S0 SO0 G0|S0 S0 S0 90 G0|90 90 S0, G0 90|90 S0 90 90 S0|(50) 29 BIUSAOIS
TT 0T 0T 60 0T|60 0T OT 0T 60|60 60 0T TT 60|0T 60 0T 60 0T|60 60 0T OT 60[60 0T OT 0T 60|0T 60 60 0T OT| 0T 60 60 €T 0T|(OT) 29 elebing
60 TT TT TT OT|TT OT TT OT TT|€T OT TT TT TT|TT TT TT TT TT|TT TT 60 TT OT|¢T TT OT TT 2T|0T TT OT OT OT|TT TT TT TT TT|[(TT) 29 SpueliayisN
60 60 80 60 60|80 60 60 60 80|80 80 80 60 60|80 80 80 80 80|80 80 80 80 80|80 80 60 60 60|80 60 80 60 80|80/ 80 80 60 60]|(80) ¥9 agnday Yyoazo
€0 ¥0 €0 €0 €0|€0 €0 €0 €0 €0|¥0 €0 €0 €0 ¥Y0O|€0 €0 ¥0 €0 ¥O0|¥0 €0 €0 €0 ¥0|€0 €0 €0 €0 €0|€0 ¥0 €0 €0 €0|¥0 €0 ¥0 v0 €0|(€0) 59 ueder
¥0 ¥0 ¥0 ¥0 ¥0|€0 ¥0O ¥0O ¥O0 ¥O|¥0 ¥0 ¥0 ¥0 ¥0|¥0 ¥0 ¥O0 ¥O0 ¥O0|¥0 ¥0 ¥0 ¥0 ¥0|¥0 v0 €0 ¥O0 ¥O|¥0 ¥0 ¥0 ¥0 ¥0|+¥0 v0 vO0 ¥0 vOo|(F0) 99 ©alI0y
0T 60 0T 60 0OT|O0T OT OT 0T OT|0T 60 OT TT 60/0T OT OT 0T 0T|60 60 60 OT 60[60 0T OT 0T 60/0T 0T 60 0T OT|0T 0T 60 0T 60]|(0T) 0L aiodebuis
v/, ZIT 16T 8. /8 |02 66 &I €IT 85 |0/ IIT 9¥T & /6 |9vT SOT 20T 89 IIT |92T 62T 96 9vT 06 |I2T SZT 62T €SI 86 |62T vZT 1T OvT ZIT | 20T 95T 98 65 60T 9P
(papnjouy siuiod 8109S JO Jaquunp;)

= 53 s I z | z < = 0O v v > w I m >» O =z O § X 0 o> Anuno
S 3 8 & F|8 8 & ® & w s 2 8 & 5§ 2 =~ &|N 8 3 2 2|8 7 * g m 5 8 5 3 3|8 = =5 ® 8 ww
> § ¥ o |32 2 =2 & 3|8 2 = 5 S I 2 @ PSS 3§ 2| 2 I S Sy
g ® R 8 3| 3 E E g 2 E I - °| 23
S M N e =% m 4 5 g 53

% b & 8 3

© s}

=

“apn|oul 0} SWa)I 18] S INOGE SUOISIDAP UMO S} U0 Paseq Aunod JUsJayIp Yoes Joj 8109S 8y} 10} JoLs prepuels ay) Joj jeuobeip ay) Buoje peay
*doy 8y} uo paisi| A1unod ayy Ag papnjoul SWal ay) U Y3 Y} UMOP A1UNOD B} JO B10IS Y} 10} JOLIS pIepuels ay) 1o} dweu A1Unod e Japun uwnjod ay} UMop peay
*do) ay) SS010E SBLIUN0I AU} JO Yoea Ag papnjoul SWa)l 1S8) aU) U0 Paseq 2109 aU) 0 I01IS PIEPUR)S 8U) J0) MOJ BY)  SS0/0E pesy  :Suononisu|

s)nsay sisAjeuy Buiyole|\ WNNdLIND-1S3] Ay} 10} T'g d|qeL 89S

(xopelo Yyybi1g) speis 1addn - 92UaIDS - S)NSAY SISAjeuy Bulysley WNNJLIND-1Sa] ayl Jo} siol3 prepuels Rl REIn

B-/



/

N D

'G6-766T ‘(SSINIL) ApMS 80UBI0S pue SoleWSYIRI [eUOIBUISIU| PIYL VIl :3OHN0OS

‘Auo sjooyos Bupeads uelinre 10y SST palelouue S| BIATeT 9459 MO|aq S|e) abelanod uopendod asnedag

*(s|re1ap 1o} €'y aInbi4 9as) sainpadoid Buljdwres woolssed 1o ‘suonedydads apeib/abe ‘sares uonedionred ajdwes 1o} saulldpING a1ow 10 auo AJSIES 10U pIP SIIfel Ul UMOYS SaLuNod

"Juaysisuooul readde Aew Ss[e10) BWOS ‘1agunu djOyM }SaJeau ay} 0} Papuno. aJe S}Nsal ashedagd z'd a|qeL ul pakeldsip se

‘Swia)l JO S19sSUNS YIND L Uo paseq sasuodsal 1981109 Jo Juadiad abelane sy 0} Buipuodsaliod S10118 pJepuels sulejuod Xuyew ay | ‘sasayjuared ul seadde swayl |[e uo sasuodsal 1981109 Jo Juadiad abesane ay) 1o} sioua prepuels ()
‘sjuiod 3109s [e10} 9T Ul Buninsas ‘a[eas julod-aaiuy) JO -OM) B UO PI0IS SI8M SWS) 9SUOAS3I-PaPUIIXS SWOS pue siied OM) pey SWa)l SWOS ‘18] 82USIIS dU) Ul SW GET U} JOxx

"A13Un02 yoea ul pa1sa) sapeld ay) IN0ge UOITeW.Iojul 910W IO} Z d|geL 89S :Sal)unod 1Sow ul ape.d YIuanaSy

L0 20 L0 80 L0 L0 L0 80 L0 L0 80 80 O L0 L0 L0 80 L0 L0 O LO L0 80 L0 L0 L0 L0 LQ LO L0 L0 L0 L0 L0 L0 L0 80 L@ (L0) 05 abesany [euoneussiul
TT OT TT|TT TT OT OT TT|TT OT ¢T TT OT|TT TT 60 ¢T TT|TT TT 60 OT OT|TT TT OT OT OT|OT OT ZT OT 60|0T OT OT TT OT[(OT) 92 BIlYY Yinos
90 80 80|0T 20 90 0T OT|80 80 OT L0 20|80 L0 80 80 0|80 80 80 90 80|80 80 20 80 20|20 L0 80 20 0|20 20 L0 60 90]|(0) s& eiquiojop
80 20/80|60 20 80 80 80|80 80 60 60 20|80 .0 80 80 80|20 L0 80 80 80|20 20 20 20 80|20 L0 80 L0 80|20 20 80 80 80|(L0) 8¢ eluenyi
¥0 ¥0 ¥0|90 ¥0 S0 S0 90[S0 ¥0 90 SO ¥0|S0 ¥0O ¥0O 90 ¥0|¥0 ¥0 ¥0 v0 90|¥0 ¥0O ¥0 ¥0 ¥0|¥0 ¥0 SO ¥0 ¥O0|¥0 ¥0 SO S0 vO[(r0) o snidAD
§0 G0 S0|Z0 S0 90 S0 80|S0 S0 90 90 S0O|S0 S0 SO0 90 S0|[S0 SO S0 G0 SO[S0 S0 SO SO 90|50 S0 S0 S0 S0|S0 SO 90 90 Go[(50) 1T¥ [efnyiod
80 G0 90|20 90,90 90 20|90 S0 L0 80 S0|90 S0 S0 20 90|90 90 S0 90 90|90 90 S0 S0 90|90 S0 90 90 L0|S0 90 90 90 90|(G0) zv (ss7) eine
L0 90 20|60 20 L0 90 80|80 20 20 L0 90|80 90 90 60 90|80 20 90 90 80[20 L0 90 20 90|20 L0 90 90 90|20 90 80 60 90[(90) zv “day olweys| ‘vel|
90 ¥0 ¥0[90 ¥0 S0 90 20[S0 S0 20 90 ¥0|S0 S0 S0 90 S0|SO0 SO S0 S0 90[S0 S0 ¥0 SO 90|50 S0 90 S0 S0|S0 SO0 90 90 vo|(r0) v ewusg
L0 S0 90|20 90 90 90 20[90 90 20 L0 S0|90 S0 90 20 90|90 90 S0 S0 90[90 90 S0 90 90|90 90 90 90 90|S0 S0 90 90 S0[(50) S¥ 909919
80 80 80|60 80 80 80 60|80 80 80 60 80|80 80 60 80 0|80 80 80 80 80|80 80 80 80 80|80 L0 80 80 80|80 80 80 80 20]|(80) S~ BluBWOY
80 90 20|60 L0 80 L0 OT|80 90,80 80 0|80 L0 L0 60 20|20 L0 L0 L0 L0[L0 L0 L0 L0 60|.0 L0 80 90 20|20 90 80 20 90[(0) st (1) wniBeg
L0 90 90(80 90 L0 90 80|20 90 80,80 90|90 90 90 80 90|90 90 90 90 90[90 90 90 90 20|90 90 20 90 90|90 90 L0 L0 90[(90) 9v dduel4
80 /0 /0|60 90 .0 /0 80[/90 20 20 80 90|80 L0 .0 80 20|20 2O O L0 80|20 80 90 90 60|20 L0 60 20 80|20 20 80 L0 L0|(90) 9v puejad|
80 80 80|60 80 80 60 60|80 80 60 OT 80|80 80 80 OT 80|80 80 L0 80 60|60 60 80 80 60|80 80 60 80 L0|80 80 80 60 80|(80) 8~ puepods
90 ¥0 ¥0|90 S0 90 S0 90|S0 S0 90 SO ¥0|S0 ¥0O ¥0 S0 S0|[S0 SO S0 S0 SO[SO0 ¥O ¥0 ¥0 SO|S0 ¥0 S0 S0 SO|¥0 ¥0 SO S0 vO[(ro0) ev ureds
0T 80 20|80 L0 L0 60 OT|80 80 60 OT 80|80 80 L0 80 80|80 80 80 80 60|80 L0 80 80 60|80 L0 80 80 60|80 80 L0 80 80[(80) 05 uonelapag ueissny
S0 ¥0 S§0|90 ¥0 S0 ¥0O 90|S0 ¥0 S0 L0 ¥0|S0 ¥0 S0, 90 ¥0|S0 SO ¥0 S0 90(S0 SO0 ¥0 ¥0O SO|S0 ¥0O SO0 ¥O0 SO|¥0 ¥0 SO S0 vO[(r0) 0S5 puepazims
80 90 90|20 90 90 80 80|90 20 OT 80 90|80 90 20 20/ 20[20 20 L0 20 80|20 20 90 90 80|20 90 80 20 20|90 20 20 TT 90]|(90) 0s KemioN
80 L0 L0|60 L0 80 L0 80|80 L0 80 OT 0|80 L0 L0 60 20|20 L0 90 L0 80(80 20 20 20 L0|LO L0 80 L0 90|20 20 80 80 .0[(£0) 0s puejesz msN
L0 90 90|20 90 90 90 20|90 S0 80 90 S0|90 90 90 20 90|/90,90 S0 90 L0[90 90 S0 90 90|50 90 L0 90 90|S0 90 90 90 90[(50) 1§ uspams
L0 L0 L0|80 L0 L0 L0 80|80 L0 60 60 0|80 L0 L0 80 L0|.0 L0 O L0 80|80 80 20 L0 LO|LO L0 60 L0 20|20 20 L0 L0 L0|(L0) 25 puejal
60 60 60|0T 60 60 80 TT|60 80 60 60 80|60 80 80 60 60|60 60 80 60 60|60 60 80 80 60|60 80 60 80 80|80 60 80 60 80|(80) €S Auewiog
2T 2T ZT|€T 2T 2T 2TT €T|€T 2T €T ¥T ZT|+¥T 2T 2T ¥T ZT|€T 2T TT 2T €T[€T €T 2T 2T €T|2T 2T €T 2T TT|2T €T €T €T €T1|(@T) €5 Buoy BuoH
L0 L0 0|0 L0 L0 L0 L0|L0 90 80 L0 L0O|LO L0 L0 L0 90|20 90 L0 L0 L0[20 20 20 20 LO|LO L0 L0 L0 20|20 L0 L0 L0 L0|(0) ¥S eljejsny
L0 S0 S0|90 S0 S0 S0 L0|S0 S0 80 90 S0|90 S0 90 90 S0|S0 SO SO0 S0 L0[S0, 90 SO0 SO 90|S0 S0 L0 SO0 90|S0 SO0 SO 90 S0[(50) ¥S epeued
TT OT TT|€T TT 2T TT €T|TT TT OT 2T TT|ZT TT TT ¢T TT|(TT TT TT OT <CT|TT TT TT TT TT|TT TT TT OT TT|OT TT TT TT OT|(TT) vS sejels panun
L0 90 90|20 90 20 90 20|20 90 20 L0 90|90 90 90 20 90|90 90 90 90 9090 90 90,90 20|90 90 90 90 90|90 90 90 90 90[(90) ¥S aljgnday >enols
L0 90 90|80 20 L0 L0 80|20 90 80 80 90|80 90 90 20 90|90 90 90 90 20|90 90 90 90 80|20 90 20 90 90|90 90 20 20 90|(90) SS elsny
L0 L0 L0|80 L0 L0 L0 L0|L0 L0 L0 80 90|20 90 90 80 20|90 90 L0 90 20|20 L0 90 90 L0|ZO 90 L0 90 20|90 20 L0 L0 90[(90) 95 KreBuny
2’0 L0 L0|80 L0 L0 90 80|20 90 L0 80 90|20 90 20 80 90(90 90 L0 90 20|20 90 90 20 90[90 90 20 90 90|90 90 20 20 90]|(90) 95 pue|buz
80 L0 60|0T 60 60 60 TT|60 L0 OT 60 0|80 80 80 OT 80|80 80 L0 80 60(80 80 20 20 80|80 L0 60 L0 80|20 20 80 60 L0[(£0) 95 spuelidyieN
TT 0T OT|0T 60 0T OT TT|OT 60 ¥T 2T OT|ZT OT OT OT OT|60 OT OT OT TT|OT OT OT 60 ZT|0OT OT TT TT TT|O0T OT TT TT OT|[(OT) 95 euebing
90 S0 90[80 90 90 90 20[90 S0 20 80 S0/90 90 90 20 90|90 90 S0 90 20[90 90 S0 SO 20|90 90 20 90.90|S0 90 90 90 S0|(50) 2§ (14) wnibjeg
2’0 G0 S0|.0 S0 S0 S0 L0|S0 S0 90 90 S0|90 S0 S0 S0 SO[S0 S0 S0 SO 90|S0 SO S0 S0 SO[S0 S0 90 90 vO[S0 S0 90 90 S0|(50) .8 BIUBAOIS
80 80 80|60 80 60 80 60|20 80 TT 80 80|80 80 L0 80 80|80 L0 L0 L0 60[80 80 80 80 0|80 80 80 80 L0|80,80 L0 OT .,0[(80) 85 algnday yoszo
70 €0 €0|¥0 €0 ¥0 €0 ¥YO|€0 €0 S0 ¥0 €0|¥0 €0 ¥0 ¥0 €0|€0 €0 €0 €0 ¥YO[€E0 ¥0O €0 €0 €0|€0 €0 ¥0 €0 €0|€0 €0 ¥0 +v0 €0[(€0) 65 ueder
S0 ¥0 ¥0|90 ¥0 S0 S0 L0|S0 ¥0 90 90 ¥0|S0 ¥0O S0 SO0 ¥O|¥0 ¥0 ¥0 ¥0O S0|[S0 SO ¥0 ¥0 SO|¥0 ¥0O 90 ¥O0 SO0|¥0 ¥0 ¥0 S0 vo|(o0) 19 ©310)
€T 2T €T |¥T €T €T 2T vI|€T 2T €T ST 2T €T 2T TT €T 2I|2T 2T 21 €T €T |¥T €T 2T 2T €T|2T €T ¥T 2T €T|2T €T €T €T €T|([D 19 alodebuls
9z 60T 6/ 6 18 9 8y 0C |2l c6 & 92 9vT |0S CET 6r 9 €6 |OIT 98 09 88 €€ |v6 6/ 9T TIT €S |86 SOT v€ 90T Gy |c€T B8OT 9vy v¥ €8 9T

(papnjouy SjuI0d 8109S JO JaQUINN)
s 235 § 2z §/8 5 8 d)f 88§ fyvgdfssE B r5lggEeeyodeoRoy| o ig
s & w - bh 3 % = s o 2 s > R § 5P 2 3 < a5 & 38 32 ° Sy
g o 3 z 2 2 2 @ z g & I 2 2
P ) e © g g g2
8 2 & 5 3
) E]

*apnjoul 0} SWa)! 1S3) AU} INOGE SUOISIDAP UMO S} UO Paseq ANUNOD JUSIBKIP YIea 10} 8100S BY) 0} J0LID PIepuelS ay) 10} jeuobelp ay) Buofe peay
“do} 3y} uo pajsi| AnUNod sy Ag papnjoul SWal U UO Y3] BU} UMOP ALUNOD B} JO B100S B} 10} 101D PIEePUE]S BU) 10} LU ALUNOD © ISPUN UWN|0d BY} UMOP pesy
*do} 8y} SS0.9B SBLIUNOI BY) JO Ydea A Papn|oul SWa)l 1Sa) BY) UO Paseq 8109S AU} 10} J01IS PIEPUE)S S} J0j MOI BY)  SSO98 peay  SUoonisu|
s)nsay sisAfeuy Buiyorey WNNJLIND-1Sa] 8yl Joj £'g a|gel 89S

(vapeIO YIUaASS) apeiD) IaMOT - 90U3IDS - SINSaY SISAfeuy Buiydre\ wnnowINd-1sa] ay) Joj sioug prepuels R EEN

X
A



	Appendix B – 1st page – THE TEST -CURRICULUM MATCHING ANALYSIS
	Table B.1 – Test-Curriculum Matching Analysis Results - Science - Upper Grade (Eighth Grade)
	Table B.2 – Test-Curriculum Matching Analysis Results - Science - Lower Grade (Seventh Grade)
	Table B.3 – Test-Curriculum Matching Analysis Results - Science - Upper Grade (Eighth Grade)
	Table B.4 – Standard Errors for the Test-Curriculum Matching Analysis Results - Science - Lower Grade (Seventh Grade)

